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3 Review

Solve the following system by elimination
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+ with all of his friends.
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3. Mr. Pilkey is looking to rent some vans and buses for
Pilkey rents 10 vans and 6 buses with a total of 276 friends.
many friends and rents 5 vans and 2 buses for 117 friends.
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4 Coach Meade and Coach Taylor make people gifts for the holidays. Coach Meade made 7
sweaters and 5 candles for a total cost of $12. Coach Taylor made 7 sweaters and 3 candles
for a total cost of $8. What is the cost of a sweater and candle?
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